Worksheet: Solution Concentration
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1. Calculate the molar concentration (C):

(a) when 5 moles of solute is dissolved in 2 L of solution…

_____________

(b) when 2.4 moles of solute is dissolved in 0.9 L of solution…
_____________

(c) when 0.65 moles of solute is dissolved in 350 mL of solution…
_____________

2. Calculate the number of moles (n) of solute:

(a) in 2 L of a 4 mol/L solution…





_____________

(b) in 0.8 L of a 1.5 mol/L solution…




_____________

(c) in 50 mL of a 0.8 mol/L solution…




_____________

3. Calculate the volume of solution (V) needed:

(a) to obtain 4 moles of solute from a 2 mol/L solution…

_____________

(b) to obtain 2 moles of solute from a 5 mol/L solution…

_____________

(c) to obtain 0.7 moles of solute from a 1.5 mol/L solution…

_____________

4. Calculate the number of moles (n) in 225 g of Na2SO4…

_____________

What is the molar concentration (C) when 225 g of Na2SO4 is dissolved in:

(a) a 5 L solution…







_____________

(b) a 0.5 L solution…







_____________

(c) a 50 mL solution…






_____________

5. Calculate the molar concentration (C):

(a) when 80 g of NaCl is dissolved in 1 L of solution…

_____________

(b) when 29 g of LiOH is dissolved in 2 L of solution…

_____________

(c) when 64 g of KNO3 is dissolved in 400 mL of solution…

_____________

Quiz: Solution Concentration
Name: ____________________



LEVEL (K/U)  _____
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An aqueous solution of calcium chloride was prepared by dissolving 250 g of CaCl2 in a solution of total volume 1.5 L.

Calculate the molar concentration (C) of calcium chloride in the solution. Show your work.

Quiz: Solution Concentration
Name: ____________________



LEVEL (K/U)  _____
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An aqueous solution of potassium nitrate was prepared by dissolving 350 g of KNO3 in a solution of total volume 2.5 L.

Calculate the molar concentration (C) of calcium chloride in the solution. Show your work.

Worksheet: Dilution
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1. Calculate the molar concentration (C):

(a) when 5 moles of solute is dissolved in 2 L of solution…

_____________

(b) when 3 L of solvent is added to the solution in (a)…

_____________

(c) when 5 L of solvent is added to the solution in (b)…

_____________

2. Calculate the number of moles (n) of solute:

(a) in 0.5 L of a 4 mol/L solution…





_____________

(b) in 2 L of a 1 mol/L solution…





_____________

(c) in 4 mL of a 0.5 mol/L solution…




_____________

3. Calculate the final molar concentration (C2):

(a) when 2.5 L of a 5 mol/L solution is diluted to 5 L…

_____________

(b) when 0.75 L of a 2.2 mol/L solution is diluted to 2.8 L…

_____________

(c) when 16 mL of a 0.45 mol/L solution is diluted to 80 mL…
_____________

4. Calculate the initial volume of a solution (V1):

(a) when 4 mol/L solution is diluted to 3 L of a 2 mol/L solution…

_________

(b) when 1.6 mol/L solution is diluted to 1.4 L of a 0.9 mol/L solution…
_________

(c) when 2 mol/L solution is diluted to 50 mL of a 0.25 mol/L solution…
_________

5. Calculate the initial molar concentration (C1):

(a) when 6 L of solution is diluted to 10 L of a 0.5 mol/L solution…
_________

(b) when 0.8 L of solution is diluted to 2.5 of a 0.089 mol/L solution…
_________

(c) when 70 mL of solution is diluted to 120 mL of a 3 mol/L solution…
_________

6. Calculate the molar concentration (C) when 45 g of NaCl is dissolved to prepare a

500 mL solution.








_________

What is the final concentration (C2) of NaCl if the solution was diluted to 750 mL?

Quiz: Dilution
Name: ____________________



LEVEL (K/U)  _____
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A student has 0.2 L of a 2.4 mol/L aqueous aluminum chloride solution. The student requires a solution with a final concentration of 1 mol/L.

To what final volume (V2) should the student dilute the original solution?

Quiz: Dilution
Name: ____________________



LEVEL (K/U)  _____
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A student has 0.4 L of a 2.2 mol/L aqueous aluminum chloride solution. The student requires a solution with a final concentration of 1 mol/L.

To what final volume (V2) should the student dilute the original solution?
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